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"
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N9Y PNPNON 0N OMINN2 APNH NNNN .9
f(x) >0: (-1<x<0)U((Xx>1)
f/(x)>0: (—e<x<0uU(<x<e)

((—1 <X<0)U (x> 1)) n((—e<x<0)u(0<x<e)) = (-1<x<0U(l<x<e)

((MONI PNDN DINNN PN INT TINIZ N I TINI)
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—5<x<5 onm f(x)=x—sin 2x 7PN DN (3 TV, 2004 - TO P, 004) .2
N0 NN VAP PNENON SV NYIPN MTIPY SY X XMWY NN NIDN 0NN XYY N

(102) . pMN ONN NOY NYIPN MTNIPIT PNEND DXPIWNN DX MNNIYND NN N8N .4

f(x) = cos 2x +a sin x TPNPNON AN (N TYM , 2005 - D NP, 004) .3
V3 NN X=Z N2w NTIPII PSPNIN N5 PN MDY
a NN NS N

(103) .MU INX VAP 0 < X < 27 DINNA FPYPNAN W LINNN PPN MTIPI IN XYY .4

O<Xx<7 DINNA y=2—4sin2x ONENON NN (2 TYM, 2005 - 7’0 VP, 004) .4
.DYPNN OY PN DY TINN MTIPI IN N8 N
D NN YA, PION OINN PPN MTIPI NY S DX MOWN NN XY¥D .4
2 PYDI INNHY NNEN MTIPI TSENN 95 DPIWN 1PAYN )
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AND NN YIAPY PSENON SY DIMNN NYIPN MTIPI SINPY NIN N¥D .4

(104)  .1PSPNON DY ATXPM PIYN AN NIN X¥ND )

@@ nl/Alen @eee

min: (0,2) , max: (%,3) , min: (§,1) , max: (3£,3) , min: (r.2) A X & .7

X=-F:y=03424 , x=5:y=-03424 .3 Xmax=-% , Xpn =% N .

2
i . BT _ . T _
min, o (3F,-5) . max, : (5.3 3 a=4 .N .3
(TN M d=8 .0 min: (7ZT,—2) , max: (3—”,6) A (1—75,0) , (%,0) N .4
)
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f(x) =sin2x—2cos x , 0<x<2r
x=0 = y=0-21=-2 = (0,-2)
y=0 = 2sinxcosx—2cosx=0 = 2cosx(sinx—1)=0
(1) cosx=0 = x=Z+kr = x, =5, %= = 3,0 ¢f0

(2) sihx=1 = x=%+4+27k = x, =

I~

/ / 2
f (x)=2cos2x+2sinx = |f (x)=2(1-2sin X+ sin x)

.2 .
= 2s8sin x—sinx—1=20

(sinx)wz%? = (1) sinx=1 = x=%5+21k = x;, =%
2) sinx=-%=sin(-Z) = x=-Z+2tk = x,=Lnr
_T _ 7
x =4I+ 27k = X3 = 67T
T e 11
X 0 2 5 a 2
f/ + 0 + 0 - 0 +
f min e infl. Ve max N min e max

flor) =0—2=—2 , I =VE_2 (V=33  qln_ _v3_,vV3__3/3

= ming, : (0,—2) , max: (%”,3‘/75) , min: Mz, _3/3) maxep : (2m,—2)

3,0) %.0)

/ (27{', _2)

(0’ _2)
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2 / V4
y=cos'x—acosx , y 5)=0,y (§)>0, 0<x<2r N .17
/
y =2 cos x (—sin x) — a(—sin x) = a sin x — 2 sin X cos x
T) g V3 _9V3.1_ a/3 V3 _ —
a3
2
y = CO0S X — COS X
y/:sinx—25inxcosx:sinx—sin2x;Z0 = sin x = sin 2x
(1) x=2x+27k = x=27k = x=0, 2«7
(2) x=m—2x+2rk = 3X=7n+21k = x:(’—g—/—%( = x=5, 7, 57”
/
y =sin x (1 —2 cos x)
X 0 %T T %r 2
/
y 0 === 0 FE = aF 0 =dp = = 0 —— = 0
y max N\ min Ve max \ min e max

y0)=1-1=0, y3 =@’ -4=1-1=-1
yor) = (1) = (- =1+1=2 , y@B =@ 1= -1

= max (0,0) , min (%T,—ﬁ) , max (m,2) , min (%—T,—ﬁ) , max (2r,0)

A
x=0 = y=0 = (00)
y=0 = cosx(cosx—1)=0
= (1) cosx=0 = x=%+rk = x=%.,3 = 3,0, ,0
(2) cosx=1 = x=2rk = x=0 = (0,0) , (2m€,0)
T
X —~— 7,
Y N Pyod TOY) -k=—£ -

.7292 MNP AW M¥PNON 9 IN TN NENEHN PN .OTPN PYDa I NN
U5 MDA OWIYHN MTPI2 P k<0 MY ,07pNN M a8

DY DY WY NTIWI PINDNT 1N NN DWPYN W X =F 713 pmn w0
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95 - N P .3
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4 NPNENON AW DY 0291 2T270Y SN NLYIN NN N8H

v (133) .y 8O HM

(96 - Ywn 9N, ™ 4) .4
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(133)  x =1 Wrn P9 NN ST oY

—3e@9@ N/Alen ©eev

aoyprImry) S=§-1=036 .3 y=ex+2 N .T

@7 MM S :% - 43 =015 .2

o

e
(I M) S = %! =649 .3

2
oy mrr) S=8 —e=09762 .3 y=x N .4
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fx)=e 2 | f(x)=%
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S=7; ypg=0 = 0=-5x3+3 = Xxg=6
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6 8
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f(x) =cosx=1 = x=27k = x=0 (A)

g(x)=2sinxcosx=sin2x=1 = 2x=%5+2kr /:2 S, S

= x=4+kr = x=%(B) C

Xpo: COSXx=2sinxcosx = cos x (2sinx—1)=0

— T T
(1) cosx=0 = x=5+kr = x=3

[SNE | [

(2) 2sinx=1 = sinx=%=sinZ
(2;) x=F+2rk = x=%

(2,) X:%T+27rk = 0 = xg=

N
=l

m m
[ 1
§$=8,+8S, :g(l—cosx) dx+4(l—sin2x) dx = (x —sin x)

6 T
0 6

+(x -/-%COS 2X)

(S

s=(G-H-0-0) +(G+L0-E+1L) = S=2-3=00354 Erymr M)

.16

/
f(x) = sin ax OSXS%W , 0<a<9 , f(H=0

/ /
f(x)=acosax = f (fj)=acos@ =0, a0 = &=

Il
)

= a

noly

f(x) = sin 3x f/(x):30053x;20 = cos3x=0 = 3x=F+kr

T kr _T
= x=Z+% = x=Z%,

ol

f0)=0 , f@) =sinZ=1, ) =sin3F=—1, ) =sin2r=0

= abs.min (3,—1) , abs.max (%,1)

sin3x=0 = 3x=kr = x:%’r = X:O,%r,%’r = (0,00 , (3,0),

%1
s 2r
V‘\g 3
X

2

,0)
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y G —1)

wlb!
ol

S:*2[ ln3xdx7—2 cos 3x :—%(—1—1) = S=§ (Y127 NN

(=)

0
MG —x)=—fE+x) :x=5 220 MI0ON 21 (¥
3x

X) =0

< 2sinmcos3x=0, sint=0 = ,/

sin (3(5 —x)) = —sin (3(5+x)) <= sin (r—3x) +sin (7 +
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Ixt+sinx=Lx—1 = sinx=-1 = x=-Z+27k

noly
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1 y
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/ / /
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7
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S=(0+3)-0-3) = S=2r @1 mrm
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f(x) = sin x+cos 2x , T<x<2m . x:%,%’ﬂ% = y=0 :9¥ N .79

f(3) =sin §+cosr=1+(-1) = f3)=0 (/)
f(7—67r):sin %”+cos %’T:sin(ﬂ—%’r)thosgzsin(—%r)whéz—%wt% = f(%’-’):o W)
fLiT) = sin L7 4 cos LT = sin (r — 1L7) 4 cos 2F = sin (—3F) — cos (v — )

=—d-cos (-Z)=-4-(-) = fAH=0 ()

-2
a3
f/(x):cosx—2sin2x:cosx—4sinxcosx = f/(x):cosx(1—4sinx) 2
(1) cosx=0 = x=%+kr = x, =% x,=9
(2) sinx=L=sin02527, = x=02527+27k = 0
X=m—0.2527 + 27k = 2.8889 + 21k = X; =2.89
3

X 7—27 2.89 7” 2r

y’'| o0 ——=+| 0 | —+==| 0 | ++=+ (ep. = end point)

y | minep. e max N min e maXep,

f(2.89) = 0.25+0.875 = 1.125 , f30) =1+ (-1)=-2 , f2r)=0+1=1
= mingp, (§,0) , max (289, 1125) , min 3f , -2) , maxg, (27, 1)

/s G<x<289)Uf<x<2m) , \: 289<x<¥
(7 PYD NNV NLYH PMD) .

(2.89,1.125) (@r1)
77
N (‘F.,0)
3.0 Az.0)
. -2) 7
y
. . /nown NPOY 010 PYNLINRN M) N29N
w T
6 6
8:4(5m X + COS 2X) dx+3f(sm X + cos 2x) dx I n
5 I 6 6
1 o 1 o
= (—C0s X+ sin 2x)| + (—cos X+ sin 2x)
3

vl

2

S:(F/Tg+%-‘/7§)7(0+0)) +((‘/7§+%-‘/7§)7(0+0)) = S=ﬁ2@=2.6 (n1a NYPNY)
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